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Note — All questions carry equal marks. Question Number

1 is compulsory. Attempt any four questions from

Q. No. 2 to-8.
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Explain the main items of incomes and expenses which
are generally found in the final accounts of a General
Insurance Company. How will you audit them ?
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On 1st January, 2015 the Jaipur Transport Company
purchased a truck for Z 8,00,000. On 1st July, 2016 this
truck was involved in an accident and was complefely
destroyed and ¥ 6,00,000 wére received by a cheque from
the Insurance company in full settlement. On the same
date‘ anbther truck was purchased by the company for
< 10,00,000. The company write off 20% depreciation.

per annum on written down value method.

Prepare the Truck Account and Depreciation Account

from the year 2015 to 2017 when books are closed on

31st March every year.
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Balajee Limited issued a prospectus inviting applications
for 1,00,000 equity shares of ¥ 10 each at a premium

of ¥ 3 per share payable as under :

On application ¥ 2; on allotment I 7 (including premium);

on first call T 2; and on second and final call ¥ 2._

Applications were received for 3,600,000 shares.
Applications for 80,000 shares were rejected and

application money thereon was returned. Pro-rata

P.T.O.
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allotment of 1,00,000 shares was made to remaining

~ applicants.

Rakesh to whom 400 shares were allotted failed to pay
the allotment money. On his failure to pay first call

money also his shares were forfeited by the company.

Ankur to whom 360 shéres were allotted failed to pay
first and second calls and therefore his shares vs-rvere .also
forfeited by the 'company.‘ |

Pass necessary entries in the journal of Balajee Limited.
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A company is considering the purchase of a machine.
Management does not want to purchase a machine, if
its pay-back period is more than 3 years and its rate

of return on investment is less than 20%.

Two machines ‘X’ and Y’ are under consideration. Cost

of each machine is ¥ 10,000 and working life is 4 years.

P.T.O.
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Scrap value is T 1,200 and ¥ 400 respectively. Annual

cash inflow are as under :

Machine X’ Machine ‘Y’
First 2,000 3,000
Second 3,000 | 4,000
Third | 4,000 5,000
Fourth 8,000 5,000

Evaluate the two proposals and suggest as to which

machine should be purchased.
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The following figures relate to Rajkot Mills Limited for

the year 2017 :

Fixed Factory Overheads 4 4.,00,000

Fixed Selling and Distribution Overheads 2,00,000
P.T.O.
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Variable Cost per unit | 12
Selling price per unit | 20
Calculate :

@) Break-even points in units

(#z) Units to be sold to earn a target net income of

X 5,000 per month during a year.

(i) Number of units to earn a net income of 25% on

cost.

(zv) Selling price per unit if Break-even point is to be

brought down by 15,000 units.

(v) Selling price to earn a profit of 20% on sales by

selling only 50,000 units. _
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Mohan borrowed a loan of ¥ 5,00,000 on 1-1-2012 @

12% p.a. to complete construction of the house.

Construction of the house was completed on

BECE
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31-01-2015 and it was self-occupied w.e.f. 1-3-2015.

The fair rent of the house is % 10,000 p.m. No part

of loan is yet repaid.

(@)

b)

(c)

(d)

Compute his income under the head income
from house property for the assessment year
2018-19.

What would be his income if the amount

borrowed was ¥ 20,00,000 instead of T 5,00,000 ?

- If house was completed on 1st April, 2017 and

it was self-occupied w.e.f. 1st Sept.; 2017 then
what would be his income for the previous
yvear 1if loan is of T 20.,00,000 instead of %

5,00,000 ?

What would be his income if the house was
let-out throughout the previous year just after

completion of house on 1st April, 2017 at a

rent of ¥ 8,000 p.m. and loan is of ¥ 20,00,000.
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¥ 20,00,000 =hT BIAT A SR HI-INT 3T &A1
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What are the provisions to set-off of losses ? What
are the provisions regarding set-off and carry forward
~of losses ? Mention those heads of income in which

unadjusted losses cannot be carried forward and set-

- off.
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Account appeared on the credit side at ¥ 3,900 as at
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31st March, 2017. In the next period on 15th "April,

2017 the following errors were detected

@

¢13)

@)

@v)

(v)

Depreciation undercharged on building by

T 22,500.

In debtor Ram’s account sales of ¥.225 not be

posted.
Purchase returns book was undercast by
T 3,750.
Machinery purchased for ¥ 15,000 entered into

purchases book.:

¥ 375 being the total of the discount column on '
the credit side of the cash book was not posted

in the ledger.

Give journal entries to rectify the errors. Prepare

Suspense Account and Profit & L.oss Adjustment Account.

PT.O.
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